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| d=40uA

W3.u W3, u
L=3u M L=3u
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M4

>
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WL 2u WL 2u

P VH VM VL

N
SHPR1 ar

@e e

L=1u L=1u
M-20

VEL 2u WEL 2u
L=1u

WL 2u
L=1u

Me20
EZ:::: M2

| d=20uA | d=20uA

O 2: SHPR1OO

.SUBCKT SHPR1 AOUT NEG POS VH VL VM

M1
M2
M3
M4
M5
M6
M7
M8
M9

N33 VL VSS VSS nch L=3u W=3u M=2
AQUT VM N34 VDD pch L=1u W=3.u M=1
N34 NEG N33 VSS nch L=1u W=1.2u M=20
N35 POS N33 VSS nch L=1u W=1.2u M=20
AQUT N43 N23 VSS nch L=1u W=1.2u M=1
N23 N30 VSS VSS nch L=1u W=1.2u M=1
N43 N43 N30 VSS nch L=1u W=1.2u M=1
N30 N30 VSS VSS nch L=1u W=1.2u M=1
N34 VH VDD VDD pch L=3u W=3.u M=2

M10 N35 VH VDD VDD pch L=3u W=3.u M=2

M11

N43 VM N35 VDD pch L=1u W=3.u M=1

.ENDS

.SUBCKT SHPR2 AOUT NEG POS VH VL VM

M4
M5
M6
M7
M8
M9

N9 VH Vdd Vdd pch L=3u W=3.u M=2
N7 NEG N9 N9 pch L=1u W=3.u M=20
Ni11 POS N9 N9 pch L=1u W=3.u M=20
N7 VL Vss Vss nch L=3u W=3u M=2
N11 VL Vss Vss nch L=3u W=3u M=2
AOUT VM N7 Vss nch L=1u W=3.u M=1

M10 N30 VM N11 Vss nch L=1u W=3.u M=1

M11

AOUT N30 N39 Vdd pch L=1u W=3.u M=1
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L=3u L=3u
M2 M7 M2 NB
\V/ss

| d=20uA

| d=20uA

O 3: SHPR2OC

M12 N30 N30 N42 Vdd pch L=1u W=3.u M=1
M13 N39 N42 Vdd Vdd pch L=1u W=3.u M=1
M14 N42 N42 Vdd Vdd pch L=1u W=3.u M=1

.ENDS

.SUBCKT 0P1 AQUT INN INP

VL

M1 N4 INP N2 VSS nch L=1u W=1.2u M=10
M2 AOUT INN N2 VSS nch L=1u W=1.2u M=10

M3 N2 VL VSS VSS nch L=3u

W=3u M=2

M4 AQUT N4 VDD VDD pch L=1u W=3u M=1

M5 N4 N4 VDD VDD pch L=1u
.ENDS

.SUBCKT 0P1B
M1 N6 N6 VDD
M2 N4 N6 VDD
M3 N6 INP N2
M4 N7 INN N2
M5 N2 VL VSS
M6 N5 N1 VSS
M7 N1 N1 VSS
M8
M9

AQUT INN INP
VDD L=1u
VDD L=1u
VSS L=1u
VSS L=1u
VSS L=3u
VSS L=1u
VSsS L=1u

pch
pch
nch
nch
nch
nch

nch

N7 N7 VDD VDD pch L=1u

W=3u M=1

VL VM
W=3u M=1
W=3u M=1

W=1.2u M=10
W=1.2u M=10

W=3u M=2
W=3u M=1
W=3u M=1

AQUT VM N5 VSS nch L=1u W=3u M=1

W=3u M=1
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VDD
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We3u
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VL
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R
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L
| NP = | NP
| NN | NN
We3u
L=3u
D
VSS
0 4. OP10O0O

M10 N3 N7 VDD VDD pch L=1u W=3u M=1
M11 N1 VM N3 VDD pch L=1u W=3u M=1

M12 AOUT VM N4 VDD pch L=1u W=3u M=1

.ENDS

.SUBCKT 0P2 AOUT INN INP VL VM

C1
M2
M3
M4
M5
M6
M7

N34 N2 0.2pF

N35 VL VSS VSS nch L=3u W=3u M=1

AQUT VM N35

VSS nch L=1u W=3u M=1

N2 VDD AOUT VSS nch L=1u W=1.2u M=1

N37 N34 VDD
AQUT VM N37
AQUT VSS N2

X0P1_1 N34 INP
.ENDS

VDD pch L=1u W=3u M=1
VDD pch L=1u W=3u M=1
VDD pch L=1u W=3u M=1

INN VL OP1

.SUBCKT 0OP3 AOUT INN INP VL VM

C1
Cc2

N3 N9 0.2pF
N5 N9 0.2pF
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L=1u L=3u
P YL

0 5 0rP1BOO

M3 N1 N5 VSS VSS nch L=3u W=3u M=1

M4 AQUT VM N1 VSS nch L=1u W=3u M=1

M5 N9 VDD AOQUT VSS nch L=1u W=1.2u M=1
M6 VDD N3 N5 VSS nch L=1u W=1.2u M=1
M7 N5 VL VSS VSS nch L=3u W=3u M=1

M8 N4 N3 VDD VDD pch L=1u W=3u M=1

M9 AQUT VM N4 VDD pch L=1u W=3u M=1
M10 AOUT VSS N9 VDD pch L=1u W=3u M=1
X0P1_1 N3 INP INN VL OP1

.ENDS
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of IN ouT L o1 IN oUT L
-van PH] o v PH2
o TRK VM VL o TRK VM VL
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o PH3
o TRK J)Vl\/l A:/L
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.SUBCKT SWO IN ON OUT

Xinvli_1 ON ONB invl

M1 OUT ONB IN VDD pch L=0.4u W=1.2u M=2
M2 IN ON IN VDD pch L=0.4u W=1.2u M=1
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ONB VL 2 VEL pu VEL pu
®_q L=0.4u " L=0.fu " L=0. fu

09 SswooQO
BTN ol
| v PHL - o
TR TRK éVM éw %gﬁfﬁ
X1 w\éf%:m
@_ P WEL 2u WL 2u W
B QMPSvfm H'LJ'H et 0t
ML MB

D VM o)
HOLD ». VSS

0 10: PH1ODO

M3 OUT ON OUT VDD pch L=0.4u W=1.2u M=1
.ENDS

.SUBCKT PH1 AIN AOUT HOLD TRK VL VM

X4 HOLD N6 invil

C1 AOUT VSS 1pF

.ic v(WW,AOUT)=0

M2 N5 VSS AOUT VDD pch L=0.4u W=1.2u M=1
M3 N5 VDD AQOUT VSS nch L=1.2u W=1.2u M=1
M4 N1 VDD N1 WW pch L=0.4u W=1.2u M=1

M5 N1 VDD N1 N4 pch L=0.4u W=1.2u M=1

M6 N1 VH VDD VDD pch L=1u W=3u M=1
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q

WL 20
VI L=1.2u
Ml ’\B
C=1pF
JVss
VDD
p
AQUT >

AN TN ar,
o PH2
TRK W VL
A 4
X1
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OP3 ar VD v Jw | SW
v v E Moo
o . B |§2¥&H
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0 11: PH2 OO
AN TN g
o PH3
»r TRK VM VL
A &
X1
B> op3 ar e — |§2&LW
N VWM VL 1
@ ‘VL | ”§V\0
W N
.

0 12: PH3ODO

X0P3_1 N4 N5 AIN VL VM 0OP3
XSWO_1 WW N6 N5 SWO

XSWO0_2 N4 TRK WW SWO

.ENDS

.SUBCKT PH2 AIN AOUT HOLD TRK VL VM

X4 HOLD N4 invi

C1 AOUT VSS 1pF

.ic v(WW,AOUT)=0

M2 N1 VSS AOUT VDD pch L=0.4u W=1.2u M=1
M3 N1 VDD AOUT VSS nch L=1.2u W=1.2u M=1
M4 N3 VDD N3 WW pch L=0.4u W=1.2u M=1
X0P3_1 N3 N1 AIN VL VM 0OP3

XSWO_1 WW N4 N1 SWO
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XSWO_2 N3 TRK WW SWO
.ENDS

.SUBCKT PH3 AIN AOUT HOLD TRK VL VM

X4 HOLD N2 invi

C1 AOUT VSS 1pF

.ic v(WW,AOUT)=0

M2 N1 VSS AOUT VDD pch L=0.4u W=1.2u M=1
M3 N1 VDD AQOUT VSS nch L=1.2u W=1.2u M=1
M4 WW WW N3 VDD pch L=0.4u W=1.2u M=1
X0P3_1 N3 N1 AIN VL VM 0OP3

XSWO_1 WW N2 N1 SWO

XSWO_2 N3 TRK WW SWO

.ENDS
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VDL
W3u W3u
L=0.4u T T L=0. 4u
o s
@ -4 \If\:gl.JAu
S o
@_‘ ML w3 M4E }T,F wn
L=1u
___+|!I'><:> | NB| » I;I
A 4 Lé- o
0 Yon
= w8 =N OSTY 47>
V> MIE" % ysor '\ VMWL
s * é é
0 13: OST OO

.SUBCKT 0OST IN MON VL VM Y

X1 MON N37 INV1S

X2 N37 Y inv4P

X3 IN INB invi1P

C1 MON VSS1 0.2pF

M2 N39 N39 VDD1 VDD1 pch L=0.4u W=3u M=1
M3 N35 N39 VDD1 VDD1 pch L=0.4u W=3u M=1
M4 N39 IN N34 VSS nch L=0.4u W=1.2u M=1
M5 VDD1 INB N34 VSS nch L=0.4u W=1.2u M=1
M6 N34 VL VSS1 VSS nch L=3u W=3u M=2

M7 N33 VL VSS1 VSS nch L=3u W=3u M=1

M8 MON VM N33 VSS nch L=1u W=3u M=1

M9 MON VM N35 VDD1 pch L=0.4u W=3u M=1
M10 MON INB VSS1 VSS nch L=1u W=1.2u M=1
.ENDS
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O 14: 0STOODOOOOO

* Main circuit: TESTOST

XBIAS_1 N1 VH VL VM Gnd BIAS

.op

.global VSS VDD VSS1 VDD1

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
X0ST_1 IN MON VL VM OUT OST

XPOWER_1 VDD VSS Gnd POWER

XPOWER_2 VDD1 VSS1 Gnd POWER

il VDD N1 1uA

v2 IN Gnd pulse(-1.65 1.65 1u 10n 10n 3u 5u)
.tran 10n 10u

.print tran v(MON) v(IN) v(OUT) v(AQOUT2)

* End of main circuit: TESTOST
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